MP PUMPS SERVICE PARTS LIST

CHEMFLO 5 & 6

Pedestal Pump

PART ITEM PART ITEM
o | TEw DESCRIPTION | ar. | oy | TEW DESCRIPTION ar.

31098 1 Volute SS CHEM 5 2 x 1.5 1 31093 8 Seal Housing SS 1
31469 Volute SS CHEM 6 3 x 2 1 31656 9 Bearing Housing 1
21255 2 Pipe Plug SS - 1/8" NPT 2 28053 10 Washer SS - 3/8" 4
33161 3 Stud SS - 3/8-16 x 2 4 21268 11 Hex Nut SS - 3/8-16 4
29194 4 Hex Jam Nut SS - 5/8-18* 1 31804 12 Ball Bearing* 2
31096 5 mpeller SS - 6.18" CF5 1 31802 13 Drive Shaft SS 1
31467 mpeller SS - 6.18" CF6 1 31803 14 Snap Ring 1
31233 6 0-Ring Viton* 1 33232 15 Square Key - .25" 1
31374 7 Mechanical Seal - 1.5" T-2100* 1

*~RECOMMENDED REPLACEMENT PARTS

ZIMP PUMPS.INC
PUMPS 3 -

34800 BENNETT « FRASER, MI 48026-1686
(586] 293-8240 » FAX (586) 293-8469
[(800) 563-B006 » www.mppumps.com

Form 7089-A

01/06



Administrator
Stamp


MP PUMPS SERVICE PARTS LIST

CHEMFLO 7 & 8 Pedestal Pump

PART ITEM PART ITEM

o | TEw DESCRIPTION | ar. | oy | TEW DESCRIPTION ar.
31424 1 Volute SS CHEM 7_2 x 1 1 31426 8 Seal Housing SS 1
31650 Volute SS CHEM 8 3 x 1.5 1 31656 9 Bearing Housing 1
21255 2 Pipe Plug SS - 1/8" NPT 2 28053 10 Washer SS - 3/8" 10
21261 3 Stud SS - 3/8-16 x 1 5/8" 10 21268 11 Hex Nut SS - 3/8-16 10
29194 4 Hex Jam Nut SS - 5/8-18* 1 31804 12 Ball Bearing* 2
31429 5 mpeller SS - 7.95" CF7 1 31802 13 Drive Shaft SS 1
31648 mpeller SS - 7.95" CF8 1 31803 14 Snap Ring 1
31430 6 0-Ring Viton* 1 33232 15 Square Key - .25" 1
31374 7 Mechanical Seal* - 1.5" T-2100 1

*~RECOMMENDED REPLACEMENT PARTS

34800 BENNETT « FRASER, MI 48026-1686 Form 7089-A
(586] 293-8240 » FAX [586) 283-8468
(B00) 563-8006 * www.mppumps.com 01/06



Administrator
Stamp


